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JEfi. NET i E S B PHC 1R (OUT/IN) JEfL NET i ES il PHC 1R (OUT/IN)
1 640% BKE =EgRE 24 88 (46/42) 51 74 &R EAN HOH 7 81 (39/42)
2 650IJIB Xk XiE 9 74 (38/36) 52 74 &I EE B8 17 91 (44/47)
3 660 KXKE HEX JL—HMIE 14 80 (38/42) 53 74 Bt TR =EmEE 26 100 (48/52)
4 67O01FE BX W& 1279 (38/41) 54 74 HRE  EE& JL—MUE 12 86 (41/45)
5 680%#K —% HOAR 5 73(39/34) BG 55 74 X% ikl IE— EEEE 5 79 (36/43)
6 680 HE WA X 19 87 (44/43) 56 75 HIF 2B =HEE 15 90 (46/44)
7 69 O EHep —IE JL—Mu& 15 84 (44/40) 57 75 {ER”RK B X 11 86 (43/43)
8 690WmE M- EEHRE 21 90 (46/44) 58 15 HE BE REFYY 14 89 (45/44)
9 69O0KkHE IEx =85 13 82 (42/40) 59 75 /\B BE #HooE 5 80 (40/40)
10 69 O BB  =fE@ JL—ML& 19 88 (44/44) 60 75X ER BE R/A—V890 9 84 (42/42)
11 69 O XA EH =RH 14 83 (42/41) 61 75 @ EX BEWE 12 87 (43/44)
12 690 2IE RE EWHRE 22 91 (42/49) 62 75 dLRS EM JL—MLE 16 91 (45/46)
13 69 Ofi4KX EIE ERRE 20 89 (41/48) 63 75 M EE HHEE 19 94 (46/48)
14 700 8%HK HE HO® 6 76 (40/36) 64 75 A E HOLE 14 89 (43/46)
15 70 O &8k HH kX WRSEE 13 83 (43/40) 65 75 {4 IERA|l #HoOLAE 6 81 (39/42)
16 70 O =i 2 s 14 84 (42/42) 66 75 KK —2 EREH 13 88 (42/46)
17 700 HT #—H =ER% 9 79 (36/43) 67 76 dtm Rt BBIL 10 86 (47/39)
18 71 O &k # =EH 9 80 (44/36) 68 76 #BX PN 8 84 (44/40)
19 7MOXE EB REEE 13 84 (45/39) 69 76 U FE— BRIL 9 85 (43/42)
20 71 0B & RI—HEYY 9 80 (41/39) 70 76 % B th RERE 6 82 (42/40)
21 71 R EFKRER BB 9 80 (40/40) 7176 EE B Bk 16 92 (46/46)
2 11 EH HEE EHEE 75 (38/37) 72 76 RE Al EHEE 12 88 (44/44)
23 71 & K— =HEE 12 83 (42/41) 73 76 &Il IR FElE 10 86 (43/43)
24 71 B/ A e 6 77 (39/38) 74 76 IEEE FMER R/AA—9F9v 14 90 (44/46)
25 71 % /R —E XIE 10 81 (40/41) 75 76 > ik AR BksL 8 84 (40/44)
26 71 #iK i WEEE 16 87 (42/45) 76 76 #K PN 10 86 (41/45)
27 72 #EW KE =ZmRE 17 89 (45/44) 77 16 ER FxX =4 12 88 (42/46)
28 72 Ef  EHif =HE 7 79 (40/39) 78 76 &Y HX JL—Mus 25 101 (47/54)
29 72 A FE EE 8 80 (41/39) 79 77 [FAER MR WBEE 13 90 (48/42)
30 72X iEE 2 HAE EA 13 85 (43/42) 80 77 % HAB [ ITE: 20 97 (51/46)
31 72 &K EX ik 9 81 (41/40) 81 71 FE Z5 EHRE 12 89 (46/43)
32 12 Br ERRE 20 92 (46/46) 82 71 AR BEFEF K& 8 85 (43/42)
33 72 #K BBR #osE 9 81 (39/42) 8 71 E#H EE ftost 9 86 (43/43)
34 72 ED Mg weFy> 7 79 (38/41) 84 71 ER ZE e 13 90 (45/45)
3B T2 @HmAR  InfE =8 10 82 (38/44) 85 77 ER MEE #Ho# 19 96 (48/48)
36 73 = 2 HoosE 9 82 (46/36) 86 77 TxE = HOH 18 95 (46/49)
37 73 M EiE fEni 6 79 (40/39) 87 71 #ELt BR EHRE 17 94 (45/49)
38 73 A EE =mRE 18 91 (46/45) 88 77 {E#% Fh =HEE 10 87 (41/46)
39 73 AXH HE =EEeE 8 81 (40/41) 89 77 =H EE ERY 14 91 (43/48)
40 WX ETE B RA—Hao0 12 85 (41/44) 90 78 ¥ AX ¥ EERE 22 100 (52/48)
41 73 EBER &EE EB 10 83 (39/44) 91 78 AT 2t =N 12 90 (46/44)
42 73 HMW fa EHeE 20 93 (43/50) 92 718 XA B O 9 87 (44/43)
43 74 EB B11 R/—949> 8 82 (44/38) 93 78 {ERK M= K 19 97 (48/49)
4 74 SEEE Ak SHEE 9 83 (43/40) 94 78 [ER g W& 14 92 (45/47)
45 T74% 18E  —HEB Wée 20 94 (49/45) 95 78X E#E IEX {liF 11 89 (43/46)
46 74 A\ HwE EHRE 11 85 (43/42) 96 78 AL Bh =HEE 7 85 (41/44)
47 74 ki —I5 g 13 87 (43/44) 97 79 kA Eif EHEE 24 103 (54/49)
48 74 &l I—& Ho#H 23 97 (48/49) 98 79 B xEIER 11 90 (47/43)
49 74 #HK BRE SHEE 30 104 (51/53) 99 79 FJiR ZR =8 16 95 (49/46)
50 745 K fBAER Mk 11 85 (41/44) 100 79 % #FH EF— 18 97 (50/47)
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101 79 R IB— =HRE 21 100 (50/50)
102 79 FXH e RER 8 87 (43/44)
103 79 ER Bk RERE 16 95 (47/48)
104 79 EEEE Al =HeE 5 84 (41/43)
105 80 ¢ =ik # ERRE 25 105 (55/50)
106 80 {Eik #F RET 16 96 (48/48)
107 80 ity EX sBHsL 17 97 (47/50)
108 80 fABE  J\BB MEELX 18 98 (48/50)
109 81 &M HE K 13 94 (49/45)
110 81 £ HE W&aISPvY 7 88 (45/43)
111 81 RIE FE =855 13 94 (46/48)
112 81 [EH E— HO# 14 95 (47/48)
113 81 /ML B2 =% 14 95 (47/48)
114 82 EiE & e 20 102 (56/46)
115 82 % RJIl & et 16 98 (51/47)
116 82 Zib B HEWE 7 89 (45/44)
117 82 Ei5 B =HEE 23 105 (51/54)
118 82 #H T RER 21 103 (48/55)
119 82 JI# B =HeE 12 94 (44/50)
120 82 % EAR 5— @la 17 99 (45/54)
121 83 ZEBR EZ #HO# 12 95 (53/42)
122 83 HLE g B4 11 94 (49/45)
123 83 f{kik % JL—MLE 19 102 (51/51)
124 83 EH E K 17 100 (49/51)
125 83 % R B— ERRE 15 98 (48/50)
126 83 = BB HosE 10 93 (46/47)
127 84 EJI JE—ER JL—MuE 10 94 (48/46)
128 84 [RH [EEPN 9 93 (45/48)
129 84 {hEE  EB =HEE 14 98 (48/50)
130 85 % EH gh K& 4 89 (45/44)
131 85 HHF ®HE o 6 91 (45/46)
132 85 /INBFF BE EHRE 17 102 (47/55)
133 86 HH EBE We 12 98 (48/50)
134 86 P9R4 A OEHERE 16 102 (49/53)
135 88 > Wk 15 =HH 1199 (52/47)
136 90 x AE #F EHRE 21 111 (55/56)
EiE A Eif e 16
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Ri5 EH ML FEE 20

Ri5 TR RS R 17

Ri5 Tk % o 22

Ri5 MR R EFEHE 14

Ri5 ErK %53 nsEE 15

Ri5 k"t =HRE 16

Ri5 7 FEF EHEE 28

Ri5 TR BE Ri—959v 15

Ri5 B|E —IE WEEE 13

Ri5 R¥% ML =H%H 6
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O=AE *=RUEBB-BME) BG=ARX ' OXE



20255 & (F4E]) FrLoPhyT [R#E=]

BfE R 2025478298 (k) XIE/BEh

BESAT UEHh ) —EEER PAR 72 =BT )L TER
(&ZF) T4/1=LF¥25— 5816Y [2]=L-F4—2X 5,026Y [3]=7Ok 5057Y SNEX:304
JEfi. NET i E S B PHC 1R (OUT/IN) JEfL NET i ES il PHC 1R (OUT/IN)
1 680 % #MF =HRE 21 89 (41/48)

2 700HF EBEF #osH 16 86 (45/41)

3 700 XA #KF HO® 9 79 (37/42)

4 710k == AULAE 13 84 (43/41)

5 71 0%l mE AEle 15 86 (40/46)

6 7T1O0XE AR ez 6 77 (35/42)

7 BOEBE =RF sEHRE 19 92 (45/47)

8 730 #H AE e 3 76 (36/40) BG

9 74 O RAIINFRF =HRE 21 95 (48/47)

10 75 0 Il =BF LESEE 8 83 (38/45)

1M1 76 £ ¥ sbsE 8 84 (44/40)

12 77 A EHZ WA 16 93 (46/47)

13 77 #iK LHF REEE 11 88 (42/46)

14 77 A  BF Ws 16 93 (44/49)

15 78 % {&#F H=XF #HOLHE 4 82 (40/42)

16 78 #iK BF & 9 87 (41/46)

17 78 EHEH HF =pEE 14 92 (44/48)

18 78 =& iLF & 18 96 (45/51)

19 78 M HE Bkt 5 83 (38/45)

20 79 #K  HEX HO#H 15 94 (46/48)

21 80 K# N HOLE 6 86 (42/44)

22 82 FER X #HO#H 15 97 (47/50)

23 84 M o) ik 10 94 (47/47)
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